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e Q:0000DO ---000O0ODO

e :000OO ---00000ODODO :“alphabet”
e 0:QxX—-Q:0000
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L Q :{QO»Qqu»CB} ® Z:{a)b}

©56:Qx2—Q: ‘QO di 92 g3
aiqr 91 93 g3
blgs d2 92 g3
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OO0 00000000, wordd
w=aia; - a, (a; € X)

gooo xx

z*::|i|zn (Z°={e}:00)
n=0

00 (language) : * 00000

U0 Acxrgpoodbo weA
- g0 A0ODOO0O “Oboobooon”
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00000000 M=(Q,%,8,s,F) O
O w=ajaz---a, 000 (accept) 0O
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Iro,T1, .., Th €Q:
® Top =S
° 6(1}71,(11):1‘1 (121,,T'L)
er, €F

LM): MOOODDOOOOO Cx*
-~ M OO0 (recognize) 0000

MOOO L(M)O “00700
MOOOOOOOD “00000000"
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(1) A ={a?"b*>™|n,m > 0}
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(2) B ={vabbaawlv,w € £*}
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Ov=a;---aq,w=by---bpex*0g
vwz:a1~-akb1--~b1

: 00000 (concatnation)
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S=(S,) : 00O (semigroup)
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e AUB:=wwe AOODO w € B}
:gooog
e AB=AoB:={wjve Ajw € B}
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e A :={wwy---w, n>0,w; € A}
:stard O
00000000 P(£) 00000
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0000 (regular expression)
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e U000 ac O0ODODOO

e 0000 RSOOMO
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e 0000 RSOOM
(RoS)0DODDOO(RS) ODODODO
e 0000 ROODO RFODODOO

e OO UODOOODOODO
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0000 (regular language)

0000 ROOOODOD L(R)OOOOOO -

e L)) =10

° L(E) :{E

e L(a) ={a} (a€X)

e L(RUS)=L(R)UL(S)
e L(RoS)=TL(R)oL(S)
e L(R*) =L(R)"
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(1) A ={a®"b?™ ! n, m > 0}
(2) B ={vabbaawlv,w € £*}
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(Non-deterministic finite automaton)
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